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éi?l;Q;ii%gﬂ%%)i 12,000,0009)*13]= 12,000,000
;}Hﬁgﬁgjggﬂ%ag 200,00094*23]= 400,000
Higiéii%gﬂ%%) “ 110,000,00091+131= 10,000,000
jﬁé?iﬁfggﬂ%%) H11,000,000915181= 1,000,000
i{iﬁjigii%gﬂ%%) #1-7,500,00091%15]=  ~7,500,000
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F423) () (tF 2 9)
34' l‘% =z L 2= o]
= 4 1 H} o _ _ _ N
f a= I;;} Q;A A A o AENZ(R)
@ | 3 = 1 A dHF FEE T %
A u]H] 5] 6,800 0 0 6,800

F 5 6,800 0 0 6,800
H oA} }_;113% o] 1) = _
Eﬁjﬂd(i =39 A 1,000,00099+23]= 2,000,000
(AR (REFEAAT) [54,327] o)x13]=
At 2,800,000913]= 2,800,000
=13 iﬂq] ol 1) = _
E;;]‘)@)(E FRAEE) F ) 000,000904181= 2,000,000

Al & A 1,723,121 23,040 1,3181,747,479

10 ukalel :2024/11/05 11:11



